
Вежба 2 

 

 

 

 

𝐻𝐴 = 𝑃  ⇒     𝐻𝐴  = 2 𝑘𝑁 

𝑉𝐴 + 𝑉𝐵 = 𝑞 ∙ 𝑙 = 13 ∙ 5 = 65 𝑘𝑁 

Σ𝑀𝐴 = 0 

𝑞 ∙ 𝑙 ∙
𝑙

2
− 𝑉𝐵 ∙ 𝑙 = 0 

𝑉𝐵 =
𝑞 ∙ 𝑙

2
=

13 ∙ 5

2
    ⇒     𝑉𝐵 = 32,5 𝑘𝑁 

⇒    𝑉𝐴 = 32,5 𝑘𝑁 

𝑓 =
𝑞 ∙ 𝑙2

8
=

13 ∙ 52

8
= 40,625 𝑘𝑁𝑚 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Прорачун нормалног напона 

𝜎1,2 =
𝑁

𝐴
±

𝑀𝑥

𝑊𝑥
 

𝑊𝑥 =
𝐼𝑥

𝑦𝑚𝑎𝑥
 

𝜎1,2 =
𝑁

𝐴
+

𝑀𝑥

𝐼𝑥
(±𝑦𝑚𝑎𝑥) 

𝐼𝑥 =
𝑏 ∙ ℎ3

12
=

10 ∙ 183

12
= 4860 𝑐𝑚4 

𝜎1 =
−2

10 ∙ 18
+

40,625 ∙ 100

4860
∙ 9 = 7,512 

𝑘𝑁

𝑐𝑚2
 

𝜎2 =
−2

10 ∙ 18
+

40,625 ∙ 100

4860
∙ (−9) = −7,534 

𝑘𝑁

𝑐𝑚2
 

 

Дијаграм нормалног напона 

 

 

 

 

 

 

 

 



1.    𝑀 = 0,    𝑁 > 0  −    затезање                                                                                        𝜎 =
𝑁

𝐴
                                                                         

 

 

                              А = 𝑏 ∙ ℎ 

 

 

 

2.    𝑀 = 0,   𝑁 < 0  −    притисак                                                                                       𝜎 =
𝑁

𝐴
 

 

 

 

 

 

 

3.    𝑁 = 0,   М > 0 

 

 

 

 

 

4.    𝑁 = 0,   М < 0 

 

 

 

 

 

тежишна оса 

тежишна оса 

тежишна оса = неутрална оса 

тежишна оса = неутрална оса 



5.    𝑁 ≠ 0,   М ≠ 0 

        𝑁 > 0,   М > 0 

 

 

 

 

 

        𝑁 > 0,   М < 0 

 

 

 

 

 

 

        𝑁 < 0,   М > 0 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 


